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CHEMISTRY
Moles Limiting and Excess #1

What are the two factors that affect which substance will be the limiting reactant?

L Quantiby
2. Reid uoed

If needed, what is the general method one uses to solve for the limiting reactant?
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Determine the “?”, Limiting and excess for the following reactions. Complete the

product and balance where necessary.
1. 2CsH;0H + 90, — 6C0O2 + 8H20
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2. Zn + Z2HCI — ZnClz + H»
2.5 moles 5.0 moles ? ?
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. SnClz + 2FeCl3 - SnCly + 2FeCh
3.21 moles 9.9 moles
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. 2CsHis + 90, — 16CO> + 18H20
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